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Instructions:
& Write coch answer on a new page.
@ Write in points and in brief.
= Please draw structures neatly.
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Q.1 | Predict the outcome of the reaction with proper Justification of the product formed.
o a. GeCly, EIOH
HC(OCH
I _C0.GHy ( 22 5 | co| sm2
. }I L co4 BT3
\ b. NEB_‘;{.; BT4
CHO o, Hs0
‘ (le B T —— | | [
\ Briefly, rationalize the product distribution of 3-Methyl Cyclohexanone for the
‘ reagents below
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Q3 Explain-the formation of preferential stereoisom

er also rationalize the choice of the first

reagent trans -2, 5 -dimethyl -pyrrolidine
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Toluene, 80 °C
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Draw the structure of the major product (along with stereochemistry and
justification of the same)

o
a. n-Bu,Culi
b. CHjl "
C. NH4CI, HQO
Predict the major product formed in the following reduction reaction. Also, justify
the choice you make
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Q.7 | Fillin the transformation with appropriate reagents along with proper justification
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(b) Write a suitable mechanism for the following transformation
0 (@]
HQO;, NaOH

| CH,OH, 1520°C  — }_0
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